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For everyone agrees wages are due from the beginning to the end

Overview

The X 3 cited a Xn>72 regarding a case where a woman said to a man, ‘I will
consent to be nNWTPM to you if you make some jewelry for me from the material I
am giving you’, where 2" rules she is nWTpPn and the 0°n21 maintain that she is
not NWTIPR. The X3 explained (initially) that their dispute depends on whether we
maintain 702 X?X MOW? PX (the view of n"7) and she is nwTpn, or we maintain
MO T3 7onnn MOwS M (the 0on) and she is not nwpn, for it is a mn.> The
X3 then continues and says, we can even assume that they all agree that mw»
M0 73 Aonnn Mowh [and nevertheless they argue whether 22 nawa anp IR or
not]. MdOIN explains that we cannot infer anything from the fact that the X313 says
MO T A2nnn Mow? maw ¥"27 (however we can infer it from other places).

- 290 13 NYNHN MY NIYST NTNT ININD PTPTY PN

We cannot infer from here that the ;7297 is that 512 72 79nnn nwh maws -
= 9995 NN NNISY NJIIT 919915 181 1IN NY NIT
For it is not possible to say that all agree that 71027 X?X n175wH 7K -
- UMD NIOR IMNT INNPT NAYL IND 19 ONT

' This mooIn references the X3 on the 2 Tmy.

> When a worker is hired to do a job, do we say that as soon as he does a 719 worth of work, his employer owes
him a 71179, so when he subsequently pays him at the end of the day, he is really paying him back a loan which he
owed him for all the 712 work that he did that day (this is called 710 791 %001 MWL 72w°) and it would not be
effective for Pw R (for it is considered m»ma wpn), or do we say that the employer does not owe the worker
anything until the worker returns the finished product to his employer (this is called 71027 X728 M*5w> PX). In this
case he is paying him his current due, but not repaying a loan. This would be an effective 7w17°p. [When he gives
her the finished product (as 1217°p) and does not charge her for it, this cannot be considered a 77°n of a loan, but
rather a bona fide payment.]

? Seemingly since the X3 says that we can say that everyone agrees that ;0 791 72rnn MW maw> (and their
argument is regarding °2> nMawa 1R 1K), but the ¥713 did not say that everyone agrees that 71027 X7 MW PR
(and their argument is dependent on something else), this would seemingly prove that the X913 maintains mIw°
M0 7 A2 MowY and therefore is comfortable saying M0 731 720Ny MAwH mws ¥"37, but is not comfortable
saying 71027 X?X M°owH PR (since that is not the 73%7). See ¥"57 71"7 2,7 MooIn (and on 3 7"7 R,nn), where NvOIN
makes a similar inference. However here nnoin goes on and rejects this inference,

* If 1025 X9X NM9wH PR it is not a M9 and there is no reason why she should not be nwpn. Therefore the X3
could not possible have said 71027 82X M"OWH PR ¥"57. An inference can be made only when the X »3 has two
options (to say that ¥"> maintain either view), and chooses only one (as in ¥"27 71"7 2,71 '0n), then we can make an
inference that the 73771 is like the one the X713 chose, but if only one option is available, we cannot derive anything
from what the X713 chose, since there is no other option.
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For if indeed it is so (that m02% X?X M°OW> PR) so what is the reason of the one
(the o°»or) who maintains that she is not nwTipn.

mooIn continues that even though there is no proof from our X773, nevertheless there is proof
from a different Xnx:
- N TP NINNHN MOV NIYT NIDNT NINI NN W N

However, we can bring proof that the ;7257 is 70 71 75702 NMMOWYH Mo -
= 19 (3,02 91 NIT NTIAY NIVNT NIP PI9T R¥NNIN

From that X723 in the first 275 of "'y noon, based on the 7aw»,” which states —
= ,Y MYON 022919 NNAY N DI PNYIY N9%AY WA

‘when he reaches the dome where they place the 1''y, the Jewish workman is not

permitted to build the dome’ -
- 951 199 N33 ONT XX ATYIN %29 MNP

And regarding this 71wn, X' rules in the X923 that if he built it, he is permitted

to accept his wages
= 90 1) NYINNN MIIYY NIYIT DIVN NNPYL DNN W9

And the X773 there explains the reason why his wages are 7N, because 71w

N0 7Y FTORNR DYDY -
- 591199 MY N3 Y PINK VIR PINN YN 10507 NN

And when does this 1"V become (7X1772) 710K, with the last bang of the hammer,

but by the last bang of the hammer, there is no ' of work -
— 3994 1N NIYT NNIYIA 5901 NN YV

We can derive from this X713 that this is the 572%7 (that 72 7%°nnn D1Powh maw»
710), since no one argues and maintains that the wages are forbidden.

MooIn discusses the ramifications of this 75%::
- 29910 Payy NP3 PN

> The 3wn is on X,Tv.

% The 1 there concludes that this means even if he built the 1"y (not only the dome where they place the 1").

7 The 1"y is 7X372 TOK once it is an 1"y that is fit to be worshipped, As long as the final hammer blow (the finishing
touch) is not given, the 1"V is not finished, and is not considered an 1"V to be 71X1;72 710K.

¥ We are now assuming that 310 791 79nnn n1°ow 7w, therefore for every 1o that he works, his employer owes
him a 7v175. When he did the first 71179 worth of work, it certainly was not an 1"y, and this 70175 wage he may
certainly accept (for he did not make an 1"y yet). The final blow with the hammer, which makes it into an 1"y, is not
worth even a 770179 (it is so miniscule a task), therefore he may take all his payment that is due to him before this last
hammer blow (which means [virtually] all his wages).

% If we would assume that 71027 XX NM1°9w X that would mean that he is owed his wages only after the entire 1" is
totally completed (and is 7%172 710K); he would not be permitted to have X177 from making the 1"y and collect his
wages.

' 3911 means the ability of the hired worker to quit in the middle of the day and receive payment for the time he
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And there is no difference regarding retracting; whether we maintain Mm% 7w
710 TV 91NN or not -
- 0950 5802 1929 12 MINY 9199 IND (1w 47 nwrn xaz) 29 VINT N

For this which 21 ruled that a worker can retract even in the middle of the day -
- 291029 NINX 19995 NN INT JNIY 1999N 13991

That ruling is true even according to the one who maintains N®X ny"wh 719K
M122Y, so regarding 7711, the rule is the same that o177 *¥ma 19908 12 MAY 9120 519, whether we

maintain 710 7Y 72°707 MW 73w or 027 ROR MTIWH 71K -
- 990 19 NYNNN MUY MY INT PPurrH payh XmMPo) NION YaN

However there is a difference regarding w7°p in the case mentioned in the

Xn>12 where she hired him to make something, for if 590 71 772°nnRn YWy MR,

then -
= YNPN NN MIYN MY INN 2IYUN

This 70w is considered a loan and she is not N7, however if X% MPowY "X
MDY, it is not a loan and she is NWTIPn (as the XA states here regarding the NP1 between 1"
and the oon) —

MooIN mentions another case where it matters whether we maintain 710 731 72°007 M%OWY 7IW°:
- %911 195Y N33 ON £%3919 NNAY 1YY

And also regarding an "'y, if he built it, his wages are permitted, (only) if we
maintain 910 7 72°0NR MAMWY mIwS.

mooIn clarifies a possible misconception:
= Y0 1Y NIINNN MUY NIYIT 2N HY IN)

And even though the 71377 is ;0 721 A2 1R Nwh TIws -
- (%, 97 N30 x22) TV IDDN D992 1999NT 9105 XIN NINUM NN 0PN Yo

Nevertheless the payment is not due until the end of the M7°2w period, as the
X722 derives in T3 177198 299 from the 7100 of -

worked. It would seem that if the rule is 710 731 721N NOWS MW, so the worker is owed money for any work he
did, and therefore even if he quits in the middle he should be paid for the work he did. However if we assume 7'}
71027 X9R M*owY (and the worker was hired or a full day’s work), since that as of now it is not the 710, so if he quits
he should not be paid for his work. n1voIn, however rejects this notion.

' The reason for this is that a Jewish worker is not a slave and can quit at any time. The owner must pay him - pro
rata — for whatever wages they agreed to.

"2 The reason is that since he may quit at any time (see footnote # 11), whenever he quits that is the m7"2w 10, and
his payment is due.

" See “Thinking it over’.

' See footnote # 8. See “Thinking it over’.

' The employee (if he continues to work) cannot demand partial payment for the time he worked; he must wait till
the end of the mow. It is similar to a loan where the Mm% owes the M7 the money from the very beginning, however
the m>n cannot demand payment until the agreed upon time was reached.
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:NINN NIYA NN NNYNUM NION I} 1Y YW Maw *hnawa niv 999vs
mwa mw ows (like a yearly hired man for a year) that it teaches us the wages
of this year (71w 7°0w)) is not paid until the next year (71v2).

Summary
We derive the 712777 that 0 731 7%00n M%OWY Mw», from the X7 in 1"V regarding

the workman’s wages. The 172%7 is relevant for w11 and for 1"y, but not for 771m.
In any event the wages are paid only by the end of the m7°2w period.

Thinking it over
mooIn states that the 713777 of M0 7371 72°NHn MWL MIw» is relevant by w1 and

1"v."” Seemingly this is obvious; regarding P¥17p our X3 mentions this in regards
to the nP12mn between oM ", and regarding 1"¥, it was just mentioned in MHOIN
based on the X3 in 1"v. Why does 19010 repeat them?!

10 31,13 (Am2) X
17 See footnotes # 13 & 14.
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